Arc Length
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An airplane is at an altitude of 5900 feet.
The airplane descends at an angle of 3°.
About how far will the airplane travel in
the air until reaches the ground?
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Portion of the circumference

arc length =
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Distance arouhd the
circle

Find the circumference in terms
of pi and to the nearest tenth
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Ex. 3 Find the arc length of CA.
In ferms of_r and rounded to

the fenths place.
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Arc Length

Ex. 4 Find the length of AB. Leave
answer in terms of w and rounded to
the nearest hundredth.
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Your Tum: Find the m AB.
Round your answer to the nearest degree.
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Ex 5: Find ’rh@iven the arc

length of m Round answer to the nearest
. degree.
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